e R

PEARRIZ AT E O
XY F i AEARACRBAER TG

F2pH P = AEI7TES Y 3P
F2FE L ¢85 % 107033 5L
A I T

#h 110001 % A% ¢ g 20 5L
3«7"%’\ ¥ ek
1 02-23312475
02 23700899
: lac@ncl.edu.tw

CEBHL Hd

'%-‘?;g 107 # BF T3 5T %z\

b

ﬁ
1 ‘?%@@%%#Bfmf%&ﬁg%ﬁ;,j\g (107) B 7230 2 52 § F1dosi
D HATENE R R LAPM A - FoiE B S

-~ AV ITRPEE v R p HdoT (RBRFTp H LSRR )
() REssr BRZEFRTY o TA IR R R AR RTRIF YL, (7 16 P27 200)
C) Rz 4RSI FAE TR R i R PR R LAY, (7Y 16370 200)
() 247 2 B34 T A AN Bl R A Y S, 87 6P 18 10P)
(2) MFEG 4 TR e idy Wy s, 87 17p ~87 24p 87 3L )
- ~%&EF”wT%@H%%KR%g&- (http:/www.lac.org.tw) THAT8 ¢ 24 > 3 & € b
"Rk syhttp://lacd.glis.ntnu.edu.tw/LacEduMember)£§i2 & » 4 £ o

iy »

PAIAEXRAER BAER HAER
CESHEE A SET R

R d e 1=


http://lac4.glis.ntnu.edu.tw/LacEduMember/

EAARE S E 107 ERFY S T4

ik

AR

Y

RyEE

¥ iR

1FERGE
Bl 3 &4 ATIRIE
pa: 7T
(F3474260 1)

7/16-7/20
74

)

B 5ie =
TR &T
BEPET

#\_l_f’ NN

- )5 A AL RE A REE
B A B TR S A RTRI Y
(C)RATRR B A
)RS TR L A BB
)é’“*lﬁff*’?fm‘*%»#ﬁwwp PSS
VA LER TR AR

)ﬂ’i’?&M UPRTS & m‘niﬂf—*ﬁ RS AW TR s 1) K
JE B AR IR

)L LR B TR R 0L TARE A T
)ﬁﬁﬁﬁﬁmﬁﬁ*‘?%ﬁﬁ*%ﬁﬁ%iu*ﬁ%o

1
1

6,000 ~

R~k
iR RE
R Y 5L
(4170 1)

7/16-7/20
74

bl S
A=

4% 4 =
O+
R
w

~
S

,1? ],ﬁ’);t_ ir‘iﬂ)}‘/zj bt:iu%x)ﬁ
et YN U /%‘vz%ﬁ(l)—” LSk B"4‘/ )
PR (PR
(i)’%‘)ﬁ F AL NSRRI A~ Sl
() i*%%ﬁ*—?ﬁﬁ‘awﬁ%@@,
(7 )41‘-"'%#%*/»\1‘?* PRZAMQ— 2/ %d /28|
o
PR T HDE SR %ﬁg’a:m TRkt | Ee
NlaGE a1 CHATKE SRk }%,z W] (T,
%ﬁmﬂﬁﬁﬁﬂﬁﬁ%%zj A TR E ) Py
%k 527 Irs %ﬁ_,l F’ﬁifﬁﬂfn?)‘% :
Jisoi %%&E%%%iﬁﬁﬁﬁ?
Lo )< BRI RS oLtE R S AR T
s
(L2) Tl £ plppare & —4 10 FEE
Rt
L) o ER AL R PR IR R 2 R AR

—LE)'TV’):L—F}\ p_‘#;\‘ °

(
(7
(>
(+
(
(
(
()&
(H
i (et

#)
i
™)
EE

1
gk

/\/\/\/\/\/\

[ R R

6,000 ~

"&ﬂ'%j\ 3 _
TR s #a
FHAY 5T
(FEs 41 34 1)

8/6-8/10

74

- RIE BRI 4
BIR R BIEA

+1J /»\ G G
;5 »z«&ﬂ 4 AR BT
#7404 —Faosbook A3 AT T (P 3R 5
)7, FEHA —21 B AR A AR (P i)
¥ )%wiﬂ 42 “@imﬁ THERT (B e -

6,000 ~

HEE AR
%@:«é,uﬁﬁp sﬂs 7T
(F471e 50 1)

8117
8124

8/31
zx

pu(T'™
-

W31

-)
- )7
)
)izl (7 L5 RMARC2L 4 15) ;
)
)

4“‘5\—
2 %
'ﬁ

\

Rt
-
f_E';
B

4,000 ~




